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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Assertion (A) : Corporate culture is generally considered as either closed and threatening

or as open and participatory.

Reason (R) : Corporate culture and style of functioning of top managers is important
factor for determining the internal environment of a company.

Codes :

(1) (A)iscorrect, but (R) is incorrect.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(4) (R)iscorrect, but (A) is incorrect.

2.  Statement | : If the workers develop an attitude of non-cooperation with Management, a

repressive economic system may be needed to set right this industrial disorder.

Statement 11 : By fulfilling social responsibility towards shareholders, employees,
consumers, government and community, a business achieves economic growth and
increases public image.

Codes :

(1) Statement I is correct, but 11 is incorrect.

(2) Both the statements | and Il are correct.

(3) Statement Il is correct but I is incorrect.

(4) Both the statements are incorrect.

3. Match the items of List-1 with List-II.

List—1 List— 11
a. Planning Commission i. 1993
b. Competition Act ii. 2002
c. Adrian Cadbury Committee iii. 1951
d. Rangrajan Committee on Disinvestment in iv. 1991
PSEs
Codes :
a b C d
@ i i iii iv
(2) iii i iv ii
(3) iii i iv i
(4) iii i [ iv
4.  From which Five Year Plan “Growth with Social Justice” has received emphasis ?
(1) 5th 2) gt
@k) 7™ (4 10"
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CHE)
agas — 1
AT TH U § O (50) TE-fashedia Uee € | Ueieh WY o & (2) 37 € | @t v e €

1. afpem (A) ;T G @ STHAR WX AT of WE SR SIhmE AT ST € a1 Ry g
3R WATIRRIgUT |
% (R) : TRt oAt & StiaRes aieT & fair & fae fm Gepfa iR o ueem @
FIEARIA T AUl T & |
ETE

(1) (A) T e ™ (R) Tod ¢ |

(2) (A) 3R (R) IHT T & 3T (R), (A) FT Tel WL & |
(3) (A) 3R (R) T4 el €, W (R), (A) T Tel TEIHIT el ¢ |
(4) (R)WE T W (A) T T |

2. ®UA —| : 3K PRI A VEEA % G GedT 7 HA H g faeiad g S €, df 3|

3R fIhR b W& A & eI IHABRI STTETF TOTCAT i SATITIHar & Fehell
T

FHAT— || ;| IR, FHANA, UEehl, WHR a1 TRET & Ufd 30 FHAISS el
TaITE ek IS STFET 37T foehr e & iR SR § 310 i s € |

%

(1) =FI1Fe /I T™ae |

(2) FA1 AN T E |

(3) FFIl T E W | T e |

(4) ST T

3. A H AT B G-I ¥ GHfed i
et - 1

a. AT ST i 1993
b. UiqEryl TutEe ii. 2002
c. Ufga el afa iii. 1951
d. THR &F & STA H [aHa Gadt TR WEa gy, 1991
- T
a b c d

1) i i i iv
) iii i iv i
(3) iii i iv i
@) iii i i iv

4. THQ U™ ST @ CHEISTR = & 9 ghg” WS S3r ST e ?
(1) draat (2) B
(3) wraEt (4) =gdt
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5. Which of the following is not the objective of the Competition Act, 2002 ?
(1) Prohibition of Restrictive Trade Practices.
(2) Prohibition of Dominant Position
(3) Prohibition of Anti-competitive Agreements
(4) Regulation of Combinations

6.  Consolidated financial statements are prepared on the principle
(1) In form the companies are one entity, in substance they are separate.
(2) Inform companies are separate, in substance they are one.
(3) Inform and substance the companies are one entity.
(4) Inform and substance the companies are separate.

7. Match the items of List-1 with those of List-1l1 and indicate the correct code :

List—1 List— 11

a. Acid Test Ratio i.  Profitability analysis

b. Debt Service Coverage Ratio  ii. Activity analysis

c. Debt Equity Ratio ii. Liquidity analysis

d. Stock Turnover Ratio iv. Long-term solvency analysis
Codes :

a b C d

) ii [ iii iv
(2) ii i iv i
(3) iii iv [ i
(4) iii i iv ii

8.  From the following two statements of Assertion (A) and Reason (R), indicate the correct

code :

Assertion (A) : From the marginal costing approach point of view, the marginal cost is
compared with the purchase price.

Reason (R) : If the marginal cost is less than the purchase price it should be purchased
rather than manufactured.

Codes :

(1) (A) and (R) both are correct.

(2) (A)is correct, but (R) is not correct.

(3) (A)is not correct, but (R) is correct.

(4) (A) and (R) both are incorrect.

9.  Which one of the following statements is true about standard labour time ?
(1) Standard labour time indicates the time in hours needed for a specific process.
(2) Itisstandardized on the basis of past experience.
(3) Infixing standard time due allowance should not be given to fatigue and tool setting.
(4) The Production Manager does not provide any input in setting the labour time
standards.
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5. fraAfeafea & @ o= @ ufaeryt sfufam, 2002 1 329g 7@ € 2
(1) vwiqeTcHs AR S8R ol oY
(2) vu feaiq o oy
(3) i Tt HIRT 1 oY

(4) HISH H A

6. fr=itera o 9 fore fagia w wafewa for faaror dar feu s € 2
(1) R G Hufar vk Hhe €, fhg aaa S 3 g6 © |
(2) ¥R H HUHEr guF €, fhg aRaa A I TH E |
(3) UPR W a7 IAd | Ul TH § |
(4) WHER G qAT AT § HUET JUEF |

7. G- H A H G-I B AT o A1 e 9 e waT

Tl -1 e - 11

a. 3TRT OXNETOT 31T i TR fovers
b. TRUT Wl ERUT 3FUT il HIAHOT [eerl
c. RO HHAT A iii. TROAAT fargeteoT
d. Y 3TEd ST iv. STeepTel I eTmar faveryoT
FT

a b C d
@ i i i iv
@) ii i iv i
@) iii iv i i
@) iii i iv i

8. A Ry u €, e @ U Sifitepe (A) A R A% (R) ¥ | 9 WEl e BT WA
Ao (A) ;I AN STTHA SREhivT @ T ST bl qorT 56 Jod § ot St & |
& (R) ;9 T AN T Hod ¥ HH € 39T AT BT ST % W W 6
3T ST =R |

T

(1) (A) 3R (R) I LI T |

(2) (A) W&l &, g (R) Tel &1 € |
(3) (A) Wl =& ¢, g (R) W € |
(4) (A) 3R (R) I TTord € |

9. To=Aifha & & I W1 o THIT 7 THT % IR H T ¢ 2
(1) vE om gu Rt fafere wfhar & foe smevash s gef Sl g9 § |
(2) =T T ST 9E o SMUR TR YA {ohaT ST & |
(3) vHT TET fTIRA A W G T ST SHEd S & feT Stad e et fsar S
MET |
(4) STIRH WeH HH GO FE % (TR § HiE ST el TS H € |
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10. Under the yield method of valuation of equity share capital, if for an equity share of ¥ 50,
the normal rate of return is 10% and expected rate of return is 5%, then the value of an
equity share will be

Q) T25 (2) T40
(3 50 (4) 100
11. Match the items of List-1 with the items of List-11 and denote the code of correct matching.
List— 1 List— 11
a. Hypothesis of Sales Revenue i. W.J. Baumol
Maximization
b. Hypothesis of Maximization of ii. Robin Marris
Firm’s Growth Rate
c. Hypothesis of Maximization of iii. O.E. Williamson

Managerial Utility Function
d. Hypothesis of Satisfying Behaviour iv. Cyert and March
Codes :

a b c d
@) ii i iii iv
(2) ii iii i iv
3) i i iii iv
4) i iv ii iii

12.  Which of the following is not a correct matching with regard to price elasticity, change in
price and change in total revenue ?

Price elasticity coefficient | Change in price | Change in total revenue

(1) Zero Increase Increase
Decrease Decrease

(2) Lessthan one Increase Decease
Decrease Increase

(3) Equal toone Increase No change
Decrease No change

(4) More than one Increase Decrease
Decrease Increase

13.  The short-run production function for a firm is as follows :
Q=-L3+15L2+10L
Where Q denotes total output in physical units and L denotes units of labour which are
homogeneous, but are not perfectly divisible and change in labour does not tend to
become zero.
Statement | : In this production function, the marginal product of 5" unit of labour is 85.
Statement 11 : Similarly, in this production function, the average product of the 5™ unit of
labour is 60.
Codes :
(1) Both the Statements are true.
(2) Both the Statements are false.
(3) Statement I is true, while Statement 11 is false.
(4) Statement I is false, but Statement Il is true.
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10. |HAT 37T ST & HeAiw ot fafy & ard afg ¥ 50 & UH HaT 399 & fow ufaemy st
T 8T 10% & AT UTer™ 3ht Tenierd 3% 5% &, T Ueh WHaT 3797 Sl 91 o &I 2

(1) %25 (2) %40
(3) %50 (4) %100
11. -1 6 9= B GEI-11 & 9T GHTAT BT 3T Gel Hel & P i Fdey
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a. TosRa TSTEE HETHISHT TR i TS, Sme
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FT
a b c d

1) i i ii iv

) ii i i iv

3) i i ii iv

@) i iv i i

12. Tog o, Jod W qNad a1 Fel I | i o 9ed | fEieiad 9 9 i 91 @@t 0o T8l
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1) I= = T
w F
() TwIFA Fis il
il I

(3) UHHTEH CIES T U Tal
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(4) TwH afw EiE e
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Ui faTsa Fél & 31X 519 H g ool URee ¥ a el gl |
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(3) FuH | T T, STateh e |1 fgean € |
(4) F | Tqe &, SEte Fo || 9T € |

JA-008-17 7 Paper-I1

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

14. The Kinked demand curve model of oligopoly was developed by
(1) Augustin Cournot (2) Stackelberg
(3) Edgeworth (4) Sweezy

15. For the success of the penetration price policy, which one of the following is not
desirable ?

(1) Short-run demand for the product to have elasticity greater than unity.
(2) Availability of economies of large scale production.

(3) Product to have very low cross-elasticity of demand.

(4) Easy acceptance and adoption of the product by the consumers.

16. Statement | : The absolute value of the difference between an unbiased estimate and the
corresponding population parameter is called sampling error.

Statement 1l : Multi-stage sampling is a restricted non-probability based sampling
technique.

Indicate the correct code :

(1) Both the Statements are correct.

(2) Both the Statements are incorrect.

(3) Statement I is correct, while Statement Il is incorrect.
(4) Statement I is incorrect, while Statement 11 is correct.

17. Match the following items of List-1 and List-1l with regard to hypothesis-testing and
indicate the code of correct matching.

List—1 List— 11
a. The ability of test to reject the null hypothesis when i. Level of significance
it is false.
b. The probability of accepting a false null hypothesis. ii. Type I error
c. The probability of rejecting a true null hypothesis iii. Type Il error

due to sampling error.
d. The probability of rejecting a true null hypothesis.  iv. Power of a test
Codes :

a b c d
1) iv ii i iii
(2) iv iii i i
(3) i i iii iv
4) ii iii i iv

18. Which one of the following is a false statement ?
(1) The signs of the regression coefficients are always the same.
(2) Correlation coefficient is the geometric mean of the two regression coefficients.

(3) The co-variance between two variables divided by the product of their standard
deviations produces the value of coefficient of correlation.

(4) Coefficient of correlation is independent of origin but not of scale.

Paper-I1 8 JA-008-17
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14. 3TTYHR & Serd (Kinked) AT 956 A (HTeirad | | fohaeh g1 farepfad fohar mar ar 2
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(3) Tad (4) T

15. 39T HeA Afd P AhAT & ey FAteiEd § & BiF 91 s Tal 8 2
(1) ST FF STEIHICAH HT H THE T 3AT4H A
(2) I UM % IR D [HEEAT Bl SUCTIAT
(3) ST STEeh! | i STE i Sgdl T &
(4) SIS FRT IS I G P S BT

16. ®UT —| : NI SHH T TEIEY STHET TG & G I F RUT SR AiqedT e

T A & |

FUA— || ;TR Aiqea Teh Fefa TR-otaehar s wfae=ra deish & |

&l e T T Y ;

(1) S e e |

(2) T FUE A E

(3) FA—ITEE FgF Il Toa € |

(4) - | T €, Tohg e — | & E |

17. OReeT URieTor § Tated G-I aer Fei-11 3t &1 1 e < ad el e aret e & =

H
e -1 e - 11

a. TRIERRONE UReHeTT, STafch € ToTd &, i STEBR A . Hewd &l W
1 TRIET0T St A
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19. If the two regression coefficients are 0.8 and 0.2, then the value of coefficient of
correlation is

(1) -0.16 (2) +0.50
(3) +0.40 (4) -0.40
20. Process of arranging data into a new order is called
(1) Manipulation of data (2) Standardization of data
(3) Sequencing of data (4) Standardized input

21. Developed by the Special Projects Office of the U.S. Navy; this technique was first
formally applied to the planning and control of the Polaris Weapon System in 1958 and
worked well in expediting the completion of that programme. The technique is known as
(1) Gantt Chart (2) PERT
(3) CRM (4) Milestone budgeting

22. Consider the following statements relating to planning and find out which of the following
are correct :
Statement | : The operating personnel should not be associated with the preparation of

the budget.

Statement Il : A programme indicates the principal operations to be carried out to
accomplish a work.

Statement 111 : Under MBO technique, the Managers should be provided with a freehand
to laydown the objectives.

Codes :

(1) Only Statement 1 is correct. (2) Only Statement Il is correct.

(3) Only Statement Il is correct. (4) Only Statements | and 111 are correct.

23. Assertion (A) : Sympathetic listening in upward communications often leads to
resentment in communicator.

Reason (R) : Sympathetic listening and encouraging remarks often lead the
communicator to believe that his proposal will receive action not contemplated by
superior (communicatee).

Codes :

(1) (A)is correct and (R) is the right explanation to it.

(2) (A)is correct, but (R) is not the right explanation to it.

(3) (A)is not correct while (R) is a correct statement.

(4) Both (A) and (R) are incorrect.

24. Assertion (A) : Herzberg believes that today’s motivators are tomorrow’s hygiene factors.
Reason (R) : Some job conditions operate primarily to dissatisfy employees when they
are absent, but their presence does not motivate them in strong way.
Codes :
(1) (A) and (R) both are correct and (R) is the right explanation of (A).
(2) (A) and (R) both are correct, but (R) is not the right explanation of (A).
(3) (A)is not correct while (R) is a correct.
(4) Both (A) and (R) are incorrect.
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19. TS ST HHILET U 0.8 @ 0.2 €, o Heday TuTish 1 oo &N ;
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(4) (A) 3R (R) I ToAd € |

24, FWHAT (A) : ESE Bl G & o 3TST % WeHES el % 3XG Heh 026 & |
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25.  Which of the following statements relating to Henry Fayol are correct ?
Statement | : Authority and responsibility are related and former arises from latter.
Statement 11 : Espirit de Corps is an extension of the principle of unity of command.
Statement 111 : Unity of command means only one command at a time.
Statement IV : There are fourteen basic principles identified by Henry Fayol.
Codes :
(1) Statements I, Il and IV (2) Statements Il and 111
(3) Statements | and IV (4) Statements Il and IV

26. Match the following items of List-1 (sources of competition) with List-11 (examples for
these sources of competition) and indicate the code of correct matching.

List—1 List— 11

a. Directly similar products i. OLA Taxi and Metro Rail

b. Available substitutes ii. Mercedes and BMW

c. Unrelated products iii. PVR and Amusement park
Codes :

a b c

Q) iii i [
2 i i i
3) i i iii
(4) ii [ iii

27. The marketing task which finds ways to alter the time pattern of demand through flexible
pricing, promotion and other incentives is called
(1) Demarketing (2) Synchromarketing
(3) Fleximarketing (4) Gorilla Marketing

28. Which of the following is not a reason for a firm to lose its market share to competitors ?
(1) A product/model is perceived by the target customer group as satisfying needs.
(2) Customers not being covered by the company’s sales force and distribution outlets.
(3) Customers may have been lost to competitors due to poor service by the firm or its
sales personnel or product becoming obsolete or more expensive.
(4)  All the above are correct reasons for given condition.

29. Match the items of List-1 with List-11 and denote the code of correct matching.

List—1 List—11

a. Invest Strategy i.  No receiving of new resources.

b. Protect Strategy  ii. Well financed marketing efforts.

c. Harvest Strategy iii. Selective resource allocation

d. Divest Strategy iv. Not warranting substantial new resources.
Codes :

a b C d
@) ii i iv i
2 i i i 0\
(3) i [ iv iii
4) iv i i i
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25. T T § Gatd i ¥ HUT Gar § ?

FUT — | WSR3 I Tatud & 3 MR Sigeat & Sci &far € |
FHAT || ST H THAT % (Ggid T R Tauie & e’ § |
FUF - || :  STSI P TeheT T ST Uh G9F H UH & WA T & |
FIA -1V ;TR AT GRT TAGE A (S H Ted 6l TR |
FT
(1) F=FIL 1AV (2) FF I R II
(3) HI AR IV (4) FAI ARV
26. G- H TR (qeTET & @) H G-I B R0 (Wt % 3 Aidr & fAw 3IeR0n) & ary
T Y @2 W&t T oot e o1 oo &
e - 1 e - 11

a. VI ¥9 H THH 3R i, ofeT JoRdt U At XA
b. U AR i, TSNS e &Y. g,
c. ITHEF IR i, W S 3R TS FARSH U1
% :

a b C
1) iii i i
@) i ii i
@) i i ii
(4) ii i iii

27. o fquue & faw ofiegul Hed HERoT, ae= T 371 WcdeT o JreEm § W % 96g uiaHe

I gt fomaT ST 2, i ed ©

(1) fafoqoe (2) TF fauom
(3) Araiet fauum (4) TiReeT oo

28. To=iTha B | i el ®H & ToTU o7 Ufeeaté st ot | 370 SToTR fe &l @i 3T SROT T8
T2

(1) el SCUTR/HIST Sl oo ST U8 FRT STESIHATS i G e ATAT HHT STl & |
(2) U o Toshl HH=IRET qT foaReT T FRT AMeeh! 1 A Tl & W@ ¢ |
(3) Tl wH eTeraT THeh foehl SITHeh! FRT TicaT ol USH fhT STH STfaT SeITg & Tferd &l
ST 3TFET AT TET &1 % ShROT ST Uil wHT o Sea/Aieel GRIg o € |
(4) =t e fefaat § Suge T RO el § |
29. gli-1 Y TSI T GEAI-11 Tt BT o T THCA Y T Tel THeq ool e 1 oo L |

el -1 T - 11

a. T WA i, T GEET ST T el g
b. =G EIA ii. T foraaiee fouuE vy
c. SUST O iii. TS GETET 3TeeT
d. ot worifa iy, 3Tueh TR H T GEEAT T YA Tal A
FT

a b c d
@ i i iv i
) i i i iv
@) ii i iv i
@) iv i i i
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30. An elaborated version of the idea expressed in meaningful consumer term is called
(1) Product image (2) Product idea
(3) Product concept (4) Prototype

31. Which one of the following combination of rules stands true while preparing schedule of
changes in working capital ?
A. Anincrease in current assets increases working capital.
B. Anincrease in current assets decreases working capital.
C. Anincrease in current liabilities decreases working capital.
D. Anincrease in current liabilities increases working capital.

Codes :
(1) AandD (2) AandC
(3 BandC (4 CandD

32. Assertion (A) : The primary motive of a company in using financial leverage is to

magnify shareholders’ return under favourable economic conditions.

Reason (R) : To magnify shareholders’ return fixed charges funds can be obtained at a
cost higher than the firm’s rate of return on net assets.

Codes :

(1) (A)is correct and (R) is the correct explanation of (A).

(2) (A)is correct, but (R) is wrong.

(3) (R)iscorrect, but (A) is wrong.

(4) Both (A) and (R) are wrong.

33. Debt financing is a cheaper source of finance because of
(1) Time value of money (2) Rate of interest
(3) Tax deductibility of interest (4) Dividends are not payable to lenders

34.  Which of the following is not true with reference to capital budgeting?
(1) Capital budgeting is related to asset replacement decisions.
(2) Cost of capital is equal to minimum required rate of return.
(3) Timing of cash flows is relevant.
(4) Existing investment in a project is not treated as sunk cost.

35.  Which of the following statements is not correct ?
(1) The cost of capital is required rate of return to ascertain the value of the firm.
(2) Different sources of funds have a specific cost of capital related to that source only.
(3) Cost of capital does not comprise any risk premium,.
(4) Cost of capital is basic data for NPV technique.

36.  Which of the following is not the quality of human resources in any organization ?
(1) Their behaviour to stimuli is often inconsistent and unpredictable.
(2) They depreciate with passage of time in terms of skills.
(3) They are heterogeneous.
(4) Retaining qualified human resources is a challenge for managers.
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30. Wreieh IUMieRT ¥ o ©9 | Afiere el fomm o foaféd &9 ol el S &
(1) 3R o= (2) I HEa
(3) ST LRI (4) omEy

31. mﬁﬁﬂwﬁﬁwﬁaﬁqﬁ WWWWWW@?WWW%7
Te] SR | ghg T HIIeier Goit gl € |
mqarﬁaa‘rﬁqﬁ@aﬁsﬁawﬁwﬁﬁ%l

e A H g & Hrawiet Yol HH gieft & |

] TSN H Fhegy T FrIeIA UoT Tt § |

9§|.Uosw>

(1) A D 2) AsRC
(3) B3RC (4) C3RD

32. AftWwYR (A) : ToriE 3T (SIadsT) & STAN FA | ST 1 AT 32 STHeT S
Teafqat & 3T=Ta IERURE & o &l ST ¢ |
& (R) . IR o AT S T & fow faa aRads Ffuat fHaer snfeaat w afaem
% AN 1 I W ITIAR AN T U i ST Fohell € |

T

(1) (A) Tl & 3R (R), (A) FT TEl TR & |
(2) (A) Wl g, g (R) Tod ¢ |

(3) (R) W& WJ (A) T ¢ |

(4) (A) 3R (R) I TTord € |

33. =07 fomivor F=foifaa °§ & foraeh SRoT ford o1 e |Edr Eid § 2
(1) g T THT A (2) ST ¢
(3) AT Bt Y el &THAT (4) YT YRS H T T ¢ |

34. TSt St & Hey H fefatad § @ S o1 W@ g 2
(1) Uoft ssifen anfed ufeeme ot @ defua € |
(2) UST B AN AT % FATH 3T S o GHM Bl § |
(3) T VATE T qHT U S ¥ |
(4) o ofE@s & adgm § 53 3 faT 1 golt g€ A & w9 H T 9 S e |

35. Trefcied & & % o1 %o T 8 2
(1) wfaeH % Go &l 9aT AT & foIw Gt 6l oI oy <l erfeta g et & |
(2) fafuat & fafe=r Sat = et 3@ diq @ Gata Ot i fafeme o gt € |
(3) USH ot AT | e SEs MEr wntHer Fei g |
(4) OST HT AN T UF S Ao o felT SR ST ¥ |

36. TR § @ SIF ol SIeA § OHa TQIE i ToTE Tél § ?
(1) SEUS F U S FTER THT TG qT SFTHT &l € |
(2) HITCT % T H GET S & WY 3T B BT e |

(3) T T EM € |
(4) T AT G B ST AT TSR & T g & |
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37. Human Resource Planning benefits to an organization are reflected in which of the
combination of the following ?

a.  Balance between demand and supply of human resources.

b.  Non-compulsion on management to assess critically and continuously the employees
and personnel policies.

c.  Duplication of efforts and conflicts are avoided.
d.  Minimizing the future returns on investment in human resources.

Codes :
(1) aandb (2) aandc
(3) abandc (4) acandd

38. A statement containing items such as job title, location, summary, duties, materials used,
working conditions etc., is called

(1) Job specification (2) Job evaluation
(3) Job description (4) Job analysis

39. Match List-1 with List-11 relating to theory of wages.

List— 1| List— 11
(Wage Theory) (Propounder)
a. Wage Fund Theory i. John Davidson
b. Subsistence Theory ii. David Recardo
c. Residual Claimant Theory iii. Adam Smith
d. Bargaining Theory of Wages iv. Francis Walker
Codes :
a b C d
) ii iv [ iii
(2) iii i iv i
(3) iv i i ii
4) ii i iv i

40. Which organizational analysis method is used, among the following, to develop various
efficiency indices relating to contribution of human capital in meeting the organizational
goals ?

(1) Objectives analysis
(2) Resource utilization analysis
(3) Task analysis
(4) Organizational climate analysis
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37. Topdll WieA W e WA SRS & o iR | 9 T T o widtsfiad g & 2
a.  OFE GETEHT T U YT & e T |
b.  HHEANET qAT HIHH Faet Aqar & [TaeTeas Te AT 3o i Uee i STarerd |
c. VAT T foRrel % I & o S ¥ |
d. A GEEAT | e W Aiqsshiiers Ufdemsi S <A HT |

HT
(1) a3Rb (2) a3
(3) a, b3c (4) a,c3Xd
38. S H AW, FE T, TRV, HEAT, IUEN § AR T QWG FF WM, MG Rl i iAo
T dTet TR St T ST €
(1) e faFRe= (2) H goaiEA
(3) o foeror (4) = fageror

39. TSR % fagia W Fatad geE-1 qen gE-11 1 e &

et - 1 et - 11
CEEURRER) (vrferaresh)
a. qﬂfgﬁﬁﬁfﬂ?{lﬁ i, S efaeEm
b. TSiiTerERT s ii. <fae ferer
c. 3TERIY SETRAm METT i, vew fEy
d.  TIg H HRTR fagia iv. TRITG STt
HT
a b c d
1) i iv i iii
(2) iii i iv i
3) iv i i i
@) i i iv i

40. EeA % Al B T FHA * oI G Goit & AMRE F Fared fan= FHRTerdm Gashichl i 0aR
X | =T B F [ Trieareass faveiaor ugfa o1 Su=nT fohar Siar & 2
(1) =S e
(2) TETEA IUANT faverToT
(3) o favermor
(4) TSHATHSE ATATERTT foveroT
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41. Match the items of List-1 with the items of List-1l regarding evaluation of project
application and suggest the correct code.

List—1 List— 11

a. Managerial Appraisal i. Analysis of working results.

b. Economic Appraisal ii. Disposal of factory effluents.

c. Financial Appraisal iii. Analysis about traits of an entrepreneur

d. Technical Appraisal iv. Analysis on employment potential
Codes :

a b C d

1 i i iv iii
(2) ii [ i 0\
(3) iii 0\ [ i
4) iv i i i

42. Match the items of Column-1 with the items of Column-I1 and suggest the correct code.

Column -1 Column - 11
a. Relationship Banking i. Dealing in hundis and acceptance of deposits.
b. Merchant Banking ii. Widening the entrepreneurial base and assist in
a rapid rate of industrial growth.
c. Indigenous Banking iii. Engaged in the business of Issue Management.

d. Development Banking iv. Creating, maintaining and enhancing strong
relationship with customers.

Codes :

a b c d
1) iv ii i iii
(2) ii iv iii i
(3) iv iii i ii
(4) ii i iv iii

43. In which year, IFCI Act was amended in order to make it possible to provide assistance,
inter alia, for medical, health or other allied services ?

(1) 1960 (2) 1970
(3) 1973 (4) 1986

44, SIDBI was set up as a subsidiary of IDBI to
(1) Take over the functions of small business financing of IDBI.
(2) Take over the venture capital operations of ICICI.
(3) Reconstruct and rehabilitate the sick and closed industrial units financed by IDBI.
(4) Facilitate, finance and promote India’s Foreign trade.
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41, UREANHT AT HodichT & Halfd geil-1 q°m Fei-11 S a1 1 el Y a1 &l § & 997

H
e - 1 e - 11

a. VEIHT Jodihd i,  SIERI uRoTE F e
b. 3T o ii. PREMT URTE F e
c. [foria geoiea iii. Tordt Sert ol foreroarett s faveior
d. TR Heaie iv. TSI &ToeT Weelt Jodih
FT

a b C d
1 i i iv i
) ii i i iv
3) iii iv i i
4) iv ii ii i

42, TY-1 I TR BT -1 & T GATAT Y 3T el B T 5T B

W -1 Wy - 11
a. ey SR i ‘g\@a}ﬁw%ﬁmw%ﬁﬁﬁqw&ﬁaﬁ
|
b. AR Ak ii. ST SR T foaR et & SR 3fienfiTes foera
St i T T FedT Het § |
c. TR ST iii. T9F U % TG H HENA § |
d. foremra e iv. TS & WY e Gy @fUd il 8, S¢S0
Tl € AR 3% Ferdl § |
% :
a b c d
@) iv i i ii
@) i iv i i
@) iv ii i i
4) ii i iv iii

43, 3 S % -9 TAihedT, WA el 3 eTash Jarell & fold Werdar qedr T Sve
FHH & B T LTRSS e-1aq | T oy |9 forar i o 2
(1) 1960 (2) 1970
(3) 1973 (4) 1986

44, € S S IME B ATHATH HUA H &G A Tagdt H wrer FeEfated § @ g wEse | w5
off 2
(1) 3T St &t o7 % o7 FIAE {aauT & H S0 FHest § o & o |
(2) oE T 3ME T 3N F G Gl Ueimer i 3T Food A oiH F el |
(3) TS =N &l 3T R foruiiad TO7 37X 5% TSt ST 3l % gie I [ad % (70 |
(4) 9RA % %9 AMR S GrAUsHE M-, IR a0 HR- SR 39 Sl 4 & oy |
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45, Letters of credit, Guarantees, Forward Contracts etc., come under which one of the
following ?

(1) Liabilities of a bank

(2) Assets of a bank

(3) Foreign exchange items of a bank
(4) Off-balance sheet items of a bank

46. Consider the following statements with regard for the “Theory of Absolute Cost
Advantage” :

(i)  Productive efficiency differed among different countries because of diversity in
natural and acquired resources possessed by them.

(i)  The difference in natural advantage manifests in varying climate, quality of land,
availability of minerals, water and other resources.

(iii) The difference in acquired resources manifests in different levels of technology and
skills available.

Identify the correct code from the following :

(1) Statement (i) is correct, but (ii) and (iii) are incorrect.
(2) Statements (i) and (ii) are correct, but (iii) is incorrect.
(3) All the statements (i), (ii) and (iii) are correct.

(4) None of the statements is correct.

47. Match the items of List-1 with List-11 and indicate the correct code.

List— 1| List—11
a. Absolute Cost i. The empirical evidence based on US export of
Advantage Theory labour intensive goods challenging the factor
endowment theory.
b. Comparative Cost ii. A country having a direct cost advantage in the
Advantage Theory production of a product on account of greater
efficiency.
c. Factor Endowment iii. A country should produce and export a
Theory commodity that primarily involves a factor of
production abundantly available within the
country.
d. Leontief Paradox iv. A country should specialize in the production

and export of a commaodity in which it possesses
greatest relative advantage.

Codes :
a b c d
@ ii iv iii i
(2) ii iv i iii
(3) ii i iii iv
4) i iv iii i
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45, WRETE, TS, AEET WiaRT, S HEteiEd | 9 e S o § 2
(1) % i T
(2) % TTEAET
(3) % fager faf= wei
(4) % B T W FeHT 3T TS

46. “q0T AT o & Fogia” & Ty H fefaiad sl T faer

(i) U I FRT GG UThiaeh 3R ST ATt bt fafaerd & SRoT [af=T 9 &t Scaed
RAAH FR AT |

(i) WIHldH o o R UReEdl STorarg, i &t o, @S, Sa 3R S SareE @
ST H IReATRTT 8 € |

(iii) 31T GameAT § 3R STty WA 3R] Hierer & fafir @i o aRieferd eid € |

TR o ¥ T % A TeaH W

(1) = (i) Tel &, W (ii) 3 (iii) T TR T |

(2) = (i) TR (ii) Wl &, W (iii) T A& |

(3)  F= (i), (i) T (iii) T @ E |

(4) g 9 U T TR |

47. -1 I TE1 B GEI-11 ¥ AT BT 3R el F2 1 =7 Y

e -1 e - 11
a. U AT o fagia i oW g agel & ug FEd W SR st
re g2 graa fagTd &l I Sar & |
b. TOFIHE WM WM ii. UH 39 T8 IR 8T o HRUT A o Ica_ |
fagra TeIeT AT T foera &l |

c. HH Jraqe HEFI iii. TR ST T 3T AT N SR R AT AT =fey
foram g ' 9 391 % & HieR 9 I W SR %

T ITTH T |
d. foifves & fortemyr v, TRt <97 BT UET SR o Seae 31X fara o ferer

BT e STs 3 et et o U & |

&<

a b c d

Q) i v iii i

2 ii v i iii

3) ii 1 1ii v

4 i v 11 1
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48. Match the items of List-1 with List-11 and indicate the code of correct matching :

List— 1| List—11
a. Accommodating I.  Creation of international reserve assets by
capital flow the IMF and their allocation among

member countries in order to improve
international liquidity.

b. Autonomous capital ii. Estimate of foreign exchange flow on

flow account of either variations in the
collection of related figures or unrecorded
illegal transactions of foreign exchange.

c. SDR Allocation iii. Inflow of foreign exchange to meet the
balance of payments deficit, normally
from the IMF.

d. Statistical discrepancy iv. Flow of loans/investments in normal
course of business.

Codes :

a b c d
@ i ii iv iii
(2) iii iv i ii
(3) iii iv ii i
(4) iii i ii iv

49. Statement | : TRIMS agreement refers to conditions or restrictions imposed on foreign
investors.

Statement 11 : TRIMS agreement specifically forbids imposing restrictions on operations
of an enterprise which result in protecting domestic products and making imports
disadvantageous.

Codes :

(1) Statement I is correct, but 11 is incorrect.
(2) Statement Il is correct, but | is incorrect.
(3) Both the statements | and |1 are correct.
(4) Both the statements | and Il are incorrect.

50. Assertion (A) : Revenue from indirect taxes was the major source of tax revenue till tax
reforms were taken during nineties.

Reason (R) : Traditionally India’s tax regime relied heavily on indirect taxes including
customs and excise.

Codes :

(1) (A)and (R) both are correct, but (R) is not the correct explanation of (A).
(2) (A)is correct, but (R) is not correct.

(3) (A)and (R) both are correct and (R) is the correct explanation of (A).

(4) (A) and (R) both are incorrect.
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48. g1 Y TSI B Gell-11 T GACIT HISTT 3R T&l He 1 o7 Y
Tl -1 T - 11
a. STIEHN UST vETE i, 3E UH U GRT RIS STReT0T et bt
o 3R FRILT aRerdl 9@ % %H H
T I o S TR A
b, TR ST yATE ii. foge fofma @ defuq offhel & GUROT
31 g 1 fhT T 38y -3 | AR F
HROT TR 9T faf 0= Weme T HTeeher=
c. THEl IR e iii, STAAR T TS TA TF FRT A FHH & A

U H % T foeett fafma s
d. Giferme fagmtaat iv. WM T FEER | F0T/FEsT & yae

&<

a b C d
@ i I iv iii
(2) iii \Y; i I
(3) iii \Y i i
(4) iii i I v

49. ®wuF —| : TRIMS (fomm) Tweian fogen Fasmept w ot T 9t 3reren ufdel &1 Seod

FATE |

FUA -1l : TRIMS (fTm) queian faviT &9 & [l 399 o T W Uiy A &l 9w
FHAT & T TROTHEEET SRe] ScaTeT ol TREI0T THeAdT & 37 ST heT STems
TISEE |

H

(1) w18 E W TR e |

(2) FF T E, W | T == € |

(3) FA | A I T E |

(4) | ST 1| A TR TR E |

50. ATUHAT (A) : T & IF H H IR & qh 3T HA F U & STl T8 T I
T LT AT T |
% (R) : TRETT €9 ¥ 9RA 6l H MG FOed! GFadl G ok 3T SR Ioh
Tfed 21weae X W R E |

&<

(1) (A) 3R (R) 31 @& €, T (R), (A) FT Tel T T € |
(2) (A) T T g (R) T T E |

(3) (A) 3 (R) IHT Tt & 31T (R), (A) T Tel W & |
(4) (A) 3R (R) 3T T&l &I |
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